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430:
> solve(z"3=1);

S solve(z™3=1);

, 2 7
| 432:
> solve(x™4+16=0);

V22,2 +4/21, 2 —4[21,4/2 -2

> factor(x"™4+16,2~(1/2));

(C+2x42 +4) (C=2x4/2 +4)

[
| 433:
[ > s:=solve(z"8+1=0);

. Zgﬁ a7 A2 = CNE a3
2+ % 242, - 4/2 J2, - 2'_VGE 142442,
/E:?T: 2+ F____

> factor(xA8+1 (2+2A(1/2))A(1/2))
(ﬁ—VZ+JEx+1)UZ+V2+JEx+1)u2—VZ+JEx+¢ExVZ+JE+1)
L (f+VZ+JEx—¢ExVZ+J§+1)

| 434:

> s:=solve(x"6-1=0);

J 2+2|J_ A 2+2|J_ J 2 2|J_ J-2- 2|J_
> map(evalc, [s]);

11 ~1 1 11 ~1 1
1,1, - 214/3, 54 14/3, 242 143,222 14/3
2 2 V") 272 V7T

%

NII—‘

2+

Q
Q

N

q

S:

> factor(x"6-1);

I (x=1) (x+1) (< +x+1) (¢ —x+1)
- 436:

> evalc(exp(1*Pi1/2));

I |

"> evalc(3*exp(1+Pi*1));

| -3e

[ > evalc((1-exp(1*Pi/2))/(1+exp(1*Pi/2))+exp(1*Pi/4)-exp(-1*Pi/4));
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440:
{> combine(simplify(sin(3*x)*cos(5*x)));
[

= in(8 x) - =sin(2 x)
—SIn X)——_SIn X
2 2
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